Maths - Actinityy |

LO: To estimate, compare, and, caleulate different measures.

value using the: symbols >, < and, =.

Remember: @ Iy =100cm o lenmu = [Ommy @ kny = [O0O0my
o [L-1000ml o IL-1000g e £I-100p

1. 1.2kg O 1209 2.800ml O 8l
3.£1.83 0 138p 4, 1m O 100mm
5.13.5cm O 1.35m 6. £0.75 0O 750p
7. 2.45kg O 2450g 8. 1.05kg OO 105g
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. Abrash had) £94.75 v her money bosu Her narv came to visit and, game her
£35.50. How much money does she have now-?

2. Inaya ts wrapping presents. The roll she uses s Sy long: She cuts of
|.qrm{'0wmpzh£x~bx0ther\'s/buﬂ\dog/pp@sent Howmud»wf\oppingxpapenl&
lefty over?

3. Fonhodpoum@glmo}swh Iuﬁtheglo.e&hold@SOOmLond,VS s the

_IGr\ebee»Depth _l
I _

I Sunil says he has £13 approximately in his wallet
1 he had to- the nearest pound; what is the: smallest
iondlof\gestoxnmnboaﬁmon&é/ﬂqobhewﬂdhwew
i_hi.&wolleb?
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Mathe - Actimity 2
LO: To corwert betuween different; units of measure.

Remember: @ Iy =100cm o lenmu = [Ommy @ kny = [O0O0my
o [L-1000ml e kg -1000g e £l -I100p

1.15m=___ cm 2.1.5m=____mm

3. 57.4cm = mm 4. |1 =2300ml
5.375 = ml 6. 300mins = hrs
7. _____secs =6mins 40secs 8. 1765p=£

Depth task - Use your conwersion skills to- complete these calculations:

1.1.7m + 20cm = m 2. 65cm —30mm = mm
3. 4.6km — 850m = m 4. 2400m + 1.1km = km
5. 3hrs — 25mins = mins 6. 2hrs + 3/4hr = mins

Wmmm

!numbwwpd&?

i 0] [1][3][5
; 2 Jrny < 19000,
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Maths - Actinityy 3

LO: To find the area by counting squares.

1 _CJm/Z 2 . _CXTI/Z
3 . _CXTI/Z 4 . _CXTUZ.
“Foreater Denthy - VAol Would the ares of th Shape ber Expiar why 1
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| |
! !
! !
! !
! !
! !
! !



Maﬂw&—Ad‘iAAhcyL
LO: To measure and, caleulate the perimeter in centimetres and, metres.

_C:O{‘e;skxll/—l:u@th&pﬂvnfiﬂ“od@t}’\%e Find the Perimeter
shapes by counting the, cmv squares for eachs >em
sides of the, shape: Wmtewdwqwshm 3em C N il
rumber, therv the answer as Sem
P=5cm + 3cm + 5cm + 3cm=
1. 2. scale: | indinidual square = lemy
____aru _ o
3. _ 4.
___drmu _cmu
e [TTTTTTT]
oy

8m

9cm

mi
decm

2¥ocm

10m
am 2%cm
3. 4.
Greater Depth

IAgotso%@ﬂqobﬂqepﬂ\md:@oaﬁawwolw@@smoﬂwmmmbﬂqm
Ithe/ox\em Dogmo,gmuﬂﬂuher\r? Remember\sqvuamhmfeh wxaLadw'

|Work;oubﬂqejox\emondpﬂ\md:@oaﬁsomejsw\e& then write an
loMubwh@ngo@ Perhaps you could start withs o square, withy lem

Lsides and then Zomu Try to- work systematieally. i



Answers

Actimty |
Core, skill
1. 1.2kg > 120g 2. 800ml < 8l
3. £1.83 > 138p 4. 1m > 100mm
5.13.5cm < 1.35m 6. £0.75 < 750p
7. 2.45kg = 24509 8. 1.05kg > 105¢g
Depth task

. Abrash had, £4.75 v her money bosu  Her nany came to visit and gave her
£35.50. Howr much money does she have now-?
£49.75 + £5.50 - £I5.25

2. Inaya i wrapping presents.  The roll she uses is Svlong.  She cuts of

.9 to- wrap: her brother's birthday, present. Ow much, wrapping paper is
omver?

5mv - 1.9 3y

3. Farhad pours o glass of squashs  If the glass holds S00ml and, I/5 is
the concentrated squash, how- many millilitres of water did he: pour?

/5 of S00ml = 100ml,

500mu - 100mb = [.O0ml

I Sunil says he has £13 approximately iy his wallek
1 he had to- the nearest pound, whab s the, smallest
londlof\gestoxnmnboaﬁmon&é/ﬂqobhewﬂdhmw
hwwollei:?

I.£|2 50 rounds up to- £13. £13.L.9 rounds down to- £13.



Answers

Actinvity 2
Core skill, -
. 1.5y = [50emy 2. 1.5mv = 1500mmy
3. S/.Lem = S/Lmm .. 2.3L = 2300mbL
5. 3.75L = 3750mb 6. 300mins = Shrs
7. [LOOsecs = 6bmins [.Osecs 3. 1765p = £I7.65
Depth task - Use your corwersion skills to- complete these calculations:
. 1. 7m0 + 20cmu = .9y 2. 65cmy - 30mumy = 620mmy
20cm = 0.2mv 65cm = 650mmy
l.7mu + O.2mv = 1.9mu 650mmy - 30mumy = 620mmy
3. L..6kmv - 850my = 3750my .. 2L.00mv + lkemu = 3.5kmy
[..6kmy = [L600my 2L.00m = 2.Lkmy
L.600m - 850my = 3750my 2.Lkrrv + Llkrny = 3.5kmy
5. 3hrs - 25mins = 155mins 6. 2hrs + 3/~ = 165mins
3hws = 180mins 2hrs = 120mins
I80mins - 25mins = 155mins 3/lhr = [ Smins

I20mins + L5min& = |65mins

IGr\e,O.tEX‘ Depth

I rumber cards?

! O] 11135

2.9%km < [1.90L10m,

o 2.9km < 3900m, o 2.Ykmy < 3Y0my
o 2.9%km < 3950m, o 2.Ykm < 5900my
o 25km < OY0m o 2.9km < 5430my

AHS&UQX\S/



Ackinviby 3

Core skill, - Fundﬂweam&%ﬂwses}wpw White eachs questions number
then the answer as ___cm/?

2em? 20cm?

llemy Il crrv

There are 10 whole squares and 2 triangles. The 2 triangles would equal 1 square. The area of this
shape is 11cm2



Core, skill
1. 2.
P =8cm P =18cm
3. 4.
P =20cm P =26cm
5 LITT[TTT]]
P =18cm
Depth task
Em
9cm
7m
dcm
1 2.
P =24cm P =30m
10m 2¥cm
4m 2%cm
3. 4.
P =28m P =10cm
Greater Depﬂm

IAgotso%@ﬂqobﬂqepﬂ\md:@oaﬁawwolw@@smoﬂwmmmbﬂqm
Ithe/ox\em Dogmo,g)r\eejwd:hhm'?

|Thwus/somehmezs/’uuejondsomehmw

IA sq,umwd:hs&dwo}bmﬂx&pemn@evl&hm and, the area & lerd
Asqpmwﬂus&dwo}Zumﬂq@pﬂ\ma@w8m and the area & [Lem?
Asqpmwﬂus&dwo}Sumﬂq@pﬂ\md:@wZOm and, the area i 25cm?
Asq,uox\ewtﬂms&dmoaﬁ8cxmﬂq@pﬂ\ma@w32m and, the area & 6.cm?




